
Kakur 0-2-5
In this kakuro spin-off, fill the grid with zeros, twos, 
and fives so that each shape contains copies of the 
same digit and each clue is the sum of the partial row 
or column next to it, as in a standard kakuro or cross-
sums puzzle. See example solution at bottom right, or 
try another 0-2-5 puzzle or kakuro puzzle before 
trying this one.
More logic puzzles by David Millar can be 
downloaded for free from The Griddle  at  http://
thegriddle.net
Send feedback by e-mail to davmillar@gmail.com or 
by Twitter to @thegriddle.

2009
June 24

012 125 6 012 4
7

10

5

5

5

10

9

7

9

4

9
2

9

0

12

10
4

4
5

5

5
5

15
0

5
9

6

4
15

9
4 12

4 4

7
10

6
9

7
12

42 127
9

14

0 4
0

2

0

2 2

0 2

2 2

5 5

2 5

Example solution.
Note how the bottom row is split and 
each part has it's own sum.


